
Results 

1. OD600 reference point 

2. Fluorescein standard curve 

2.1 Data 



2.2 Figure 
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3. Calculate Target Dilution 

3.1 Colony 1  

3.2 Colony 2  



4. Raw Plate Reader Measurements 

4.1 Hour 0 

4.1.1 Raw Abs600 



4.1.2 Raw Fluorescence 

4.2 Hour 2 

4.2.1 Raw Abs600 
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	 Replicate	4	

Negative	Control	(Colony	1)	 53563	 52621	 54704	 55531	
Negative	Control	(Colony	2)	 61643	 63769	 61294	 61907	
Positive	Control	(Colony	1)	 62775	 62643	 58243	 62964	
Positive	Control	(Colony	2)	 68685	 65147	 93256	 66783	
Test	Device	1:	 	 (Colony	1)	 50009	 53330	 51697	 56404	
Test	Device	1:	 	 (Colony	2)	 61633	 49335	 61742	 51717	
Test	Device	2:	 	 (Colony	1)	 63807	 59567	 62956	 64145	
Test	Device	2:	 	 (Colony	2)	 73136	 75932	 76432	 73309	
Test	Device	3:	 	 (Colony	1)	 51242	 53373	 51978	 57234	
Test	Device	3:	 	 (Colony	2)	 63587	 67474	 67395	 61912	
Test	Device	4:	 	 (Colony	1)	 55851	 59088	 57803	 63424	
Test	Device	4:	 	 (Colony	2)	 71925	 72608	 71186	 68169	
Test	Device	5:	 	 (Colony	1)	 64496	 65372	 64333	 67933	
Test	Device	5:	 	 (Colony	2)	 72089	 71011	 73027	 63945	
Test	Device	6:	 	 (Colony	1)	 54191	 58824	 55002	 63059	
Test	Device	6:	 	 (Colony	2)	 65520	 62975	 60900	 57105	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	 Replicate	4	

Negative	Control	(Colony	1)	 0.462	 0.489	 0.502	 0.525	
Negative	Control	(Colony	2)	 0.408	 0.457	 0.456	 0.462	
Positive	Control	(Colony	1)	 0.388	 0.489	 0.442	 0.459	
Positive	Control	(Colony	2)	 0.443	 0.446	 0.485	 0.454	
Test	Device	1:	 	 (Colony	1)	 0.46	 0.489	 0.475	 0.551	
Test	Device	1:	 	 (Colony	2)	 0.446	 0.474	 0.476	 0.464	
Test	Device	2:	 	 (Colony	1)	 0.498	 0.508	 0.506	 0.504	
Test	Device	2:	 	 (Colony	2)	 0.417	 0.433	 0.416	 0.42	
Test	Device	3:	 	 (Colony	1)	 0.538	 0.565	 0.555	 0.583	
Test	Device	3:	 	 (Colony	2)	 0.447	 0.475	 0.471	 0.455	
Test	Device	4:	 	 (Colony	1)	 0.223	 0.247	 0.245	 0.259	
Test	Device	4:	 	 (Colony	2)	 0.255	 0.263	 0.265	 0.258	
Test	Device	5:	 	 (Colony	1)	 0.441	 0.49	 0.517	 0.537	
Test	Device	5:	 	 (Colony	2)	 0.317	 0.328	 0.353	 0.337	
Test	Device	6:	 	 (Colony	1)	 0.484	 0.536	 0.558	 0.595	



Test	Device	6:	 	 (Colony	2)	 0.506	 0.528	 0.517	 0.52	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	 Replicate	4	

Negative	Control	(Colony	1)	 54647	 57605	 55436	 57878	
Negative	Control	(Colony	2)	 54155	 62751	 63069	 65295	
Positive	Control	(Colony	1)	 72278	 85402	 72463	 73895	
Positive	Control	(Colony	2)	 72140	 69994	 79768	 72775	
Test	Device	1:	 	 (Colony	1)	 47374	 52391	 52323	 60815	
Test	Device	1:	 	 (Colony	2)	 51695	 57330	 60172	 55484	
Test	Device	2:	 	 (Colony	1)	 81225	 82880	 81288	 88678	
Test	Device	2:	 	 (Colony	2)	 78216	 84978	 85181	 80614	
Test	Device	3:	 	 (Colony	1)	 54826	 59305	 54518	 61890	
Test	Device	3:	 	 (Colony	2)	 66109	 67979	 65617	 62390	
Test	Device	4:	 	 (Colony	1)	 67692	 69653	 67577	 74999	
Test	Device	4:	 	 (Colony	2)	 76947	 82260	 76274	 74157	
Test	Device	5:	 	 (Colony	1)	 85090	 89827	 94624	 95589	
Test	Device	5:	 	 (Colony	2)	 77394	 74657	 81365	 78933	
Test	Device	6:	 	 (Colony	1)	 49328	 58482	 57006	 64503	
Test	Device	6:	 	 (Colony	2)	 59198	 58075	 56602	 55674	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	 Replicate	4	

Negative	Control	(Colony	1)	 0.602	 0.625	 0.592	 0.62	
Negative	Control	(Colony	2)	 0.608	 0.617	 0.61	 0.594	
Positive	Control	(Colony	1)	 0.534	 0.595	 0.59	 0.608	
Positive	Control	(Colony	2)	 0.574	 0.59	 0.579	 0.533	
Test	Device	1:	 	 (Colony	1)	 0.741	 0.694	 0.722	 0.738	
Test	Device	1:	 	 (Colony	2)	 0.723	 0.73	 0.742	 0.734	
Test	Device	2:	 	 (Colony	1)	 0.641	 0.604	 0.657	 0.658	
Test	Device	2:	 	 (Colony	2)	 0.644	 0.658	 0.632	 0.633	
Test	Device	3:	 	 (Colony	1)	 0.655	 0.636	 0.663	 0.662	
Test	Device	3:	 	 (Colony	2)	 0.657	 0.647	 0.615	 0.627	
Test	Device	4:	 	 (Colony	1)	 0.418	 0.393	 0.418	 0.432	
Test	Device	4:	 	 (Colony	2)	 0.488	 0.48	 0.47	 0.461	
Test	Device	5:	 	 (Colony	1)	 0.614	 0.628	 0.659	 0.669	
Test	Device	5:	 	 (Colony	2)	 0.572	 0.562	 0.539	 0.513	



Test	Device	6:	 	 (Colony	1)	 0.761	 0.736	 0.771	 0.779	
Test	Device	6:	 	 (Colony	2)	 0.75	 0.759	 0.722	 0.727	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	 Replicate	4	

Negative	Control	(Colony	1)	 59334	 62529	 56991	 61682	
Negative	Control	(Colony	2)	 70904	 71623	 71048	 70331	
Positive	Control	(Colony	1)	 77119	 95389	 89827	 96063	
Positive	Control	(Colony	2)	 82383	 79024	 81624	 70219	
Test	Device	1:	 	 (Colony	1)	 54481	 52610	 50529	 59201	
Test	Device	1:	 	 (Colony	2)	 63447	 61681	 63202	 60978	
Test	Device	2:	 	 (Colony	1)	 106643	 101168	 112066	 113540	
Test	Device	2:	 	 (Colony	2)	 119155	 125208	 118575	 119788	
Test	Device	3:	 	 (Colony	1)	 62742	 67454	 67700	 73973	
Test	Device	3:	 	 (Colony	2)	 82068	 75574	 73622	 70050	
Test	Device	4:	 	 (Colony	1)	 84186	 82169	 82716	 91516	
Test	Device	4:	 	 (Colony	2)	 108314	 106333	 100030	 103412	
Test	Device	5:	 	 (Colony	1)	 108943	 117836	 123336	 130675	
Test	Device	5:	 	 (Colony	2)	 105810	 105667	 94266	 92096	
Test	Device	6:	 	 (Colony	1)	 55609	 57315	 57117	 64102	
Test	Device	6:	 	 (Colony	2)	 63509	 58151	 59142	 57712	
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Experimental	
Values:	 Raw	Abs600	 Raw	Fluorescence	

Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	 Replicate	4	 Replicate	1	 Replicate	2	 Replicate	3	 Replicate	4	
Blank	media	 0.036	 0.038	 0.049	 0.04	 43305	 45151	 46169	 48098	
Blank	mean:	 0.04075	 	   45680.75	 	   
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	 Replicate	4	

Negative	Control	(Colony	1)	 0.02925	 0.02725	 0.03225	 0.02925	

Negative	Control	(Colony	2)	 0.03525	 0.03825	 0.03825	 0.03725	
Positive	Control	(Colony	1)	 0.02925	 0.03225	 0.02325	 0.03125	
Positive	Control	(Colony	2)	 0.03425	 0.03425	 0.03725	 0.03525	
Test	Device	1:	 	 (Colony	1)	 0.03325	 0.03325	 0.03425	 0.06525	
Test	Device	1:	 	 (Colony	2)	 0.04325	 0.03425	 0.03525	 0.03525	
Test	Device	2:	 	 (Colony	1)	 0.03325	 0.04025	 0.03325	 0.03525	



Test	Device	2:	 	 (Colony	2)	 0.03825	 0.11725	 0.03825	 0.04025	
Test	Device	3:	 	 (Colony	1)	 0.04125	 0.04425	 0.04525	 0.04725	
Test	Device	3:	 	 (Colony	2)	 0.04625	 0.03925	 0.04125	 0.03925	
Test	Device	4:	 	 (Colony	1)	 0.02525	 0.02525	 0.02625	 0.02625	
Test	Device	4:	 	 (Colony	2)	 0.02825	 0.02725	 0.02425	 0.02825	
Test	Device	5:	 	 (Colony	1)	 0.03525	 0.03625	 0.04025	 0.03925	
Test	Device	5:	 	 (Colony	2)	 0.03525	 0.03325	 0.03325	 0.03125	
Test	Device	6:	 	 (Colony	1)	 0.04625	 0.04625	 0.05025	 0.05225	
Test	Device	6:	 	 (Colony	2)	 0.04225	 0.04125	 0.04625	 0.04525	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	 Replicate	4	

Negative	Control	(Colony	1)	 3104.25	 9131.25	 2653.25	 2960.25	
Negative	Control	(Colony	2)	 9667.25	 6162.25	 9362.25	 9647.25	
Positive	Control	(Colony	1)	 8029.25	 6601.25	 10932.25	 3686.25	
Positive	Control	(Colony	2)	 8607.25	 8859.25	 7911.25	 8085.25	
Test	Device	1:	 	 (Colony	1)	 11344.25	 13052.25	 8459.25	 4853.25	
Test	Device	1:	 	 (Colony	2)	 9244.25	 8072.25	 9286.25	 6525.25	
Test	Device	2:	 	 (Colony	1)	 7236.25	 11462.25	 6477.25	 10591.25	
Test	Device	2:	 	 (Colony	2)	 13934.25	 18430.25	 17192.25	 18582.25	
Test	Device	3:	 	 (Colony	1)	 6096.25	 3789.25	 2514.25	 9654.25	
Test	Device	3:	 	 (Colony	2)	 24252.25	 11146.25	 16953.25	 9510.25	
Test	Device	4:	 	 (Colony	1)	 6124.25	 5503.25	 4502.25	 12279.25	
Test	Device	4:	 	 (Colony	2)	 20968.25	 20684.25	 16844.25	 16606.25	
Test	Device	5:	 	 (Colony	1)	 7276.25	 8799.25	 11277.25	 14321.25	
Test	Device	5:	 	 (Colony	2)	 21951.25	 20614.25	 17574.25	 15271.25	
Test	Device	6:	 	 (Colony	1)	 3905.25	 8379.25	 6744.25	 14075.25	
Test	Device	6:	 	 (Colony	2)	 10047.25	 9741.25	 14296.25	 9936.25	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	Replicate	4	

Negative	Control	(Colony	1)	 3.83	 12.10	 2.97	 3.65	
Negative	Control	(Colony	2)	 9.90	 5.82	 8.84	 9.35	
Positive	Control	(Colony	1)	 9.91	 7.39	 16.98	 4.26	
Positive	Control	(Colony	2)	 9.07	 9.34	 7.67	 8.28	
Test	Device	1:	 	 (Colony	1)	 12.32	 14.18	 8.92	 2.69	
Test	Device	1:	 	 (Colony	2)	 7.72	 8.51	 9.51	 6.68	
Test	Device	2:	 	 (Colony	1)	 7.86	 10.28	 7.03	 10.85	
Test	Device	2:	 	 (Colony	2)	 13.16	 5.68	 16.23	 16.67	
Test	Device	3:	 	 (Colony	1)	 5.34	 3.09	 2.01	 7.38	
Test	Device	3:	 	 (Colony	2)	 18.94	 10.25	 14.84	 8.75	
Test	Device	4:	 	 (Colony	1)	 8.76	 7.87	 6.19	 16.89	
Test	Device	4:	 	 (Colony	2)	 26.80	 27.41	 25.08	 21.23	



Test	Device	5:	 	 (Colony	1)	 7.45	 8.77	 10.12	 13.18	
Test	Device	5:	 	 (Colony	2)	 22.49	 22.39	 19.09	 17.65	
Test	Device	6:	 	 (Colony	1)	 3.05	 6.54	 4.85	 9.73	
Test	Device	6:	 	 (Colony	2)	 8.59	 8.53	 11.16	 7.93	
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Sample	set:	 Arith.	Mean	 Arith.	Std.Dev.	 Geo.	Mean	 Geo.	Std.	Dev.	

Negative	Control	(Colony	1)	 5.64	 4.32	 4.74	 1.887	
Negative	Control	(Colony	2)	 8.48	 1.83	 8.31	 1.274	
Positive	Control	(Colony	1)	 9.64	 5.41	 8.53	 1.781	
Positive	Control	(Colony	2)	 8.59	 0.76	 8.57	 1.094	
Test	Device	1:	 	 (Colony	1)	 9.53	 5.05	 8.04	 2.131	
Test	Device	1:	 	 (Colony	2)	 8.11	 1.20	 8.04	 1.162	
Test	Device	2:	 	 (Colony	1)	 9.01	 1.85	 8.86	 1.232	
Test	Device	2:	 	 (Colony	2)	 12.93	 5.08	 11.92	 1.659	
Test	Device	3:	 	 (Colony	1)	 4.45	 2.39	 3.95	 1.781	
Test	Device	3:	 	 (Colony	2)	 13.20	 4.62	 12.60	 1.419	
Test	Device	4:	 	 (Colony	1)	 9.93	 4.76	 9.22	 1.536	
Test	Device	4:	 	 (Colony	2)	 25.13	 2.78	 25.01	 1.123	
Test	Device	5:	 	 (Colony	1)	 9.88	 2.45	 9.66	 1.273	
Test	Device	5:	 	 (Colony	2)	 20.40	 2.42	 20.29	 1.128	
Test	Device	6:	 	 (Colony	1)	 6.04	 2.84	 5.54	 1.632	
Test	Device	6:	 	 (Colony	2)	 9.05	 1.44	 8.97	 1.162	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	Replicate	4	

Negative	Control	(Colony	1)	 0.18225	 0.18925	 0.19325	 0.18925	
Negative	Control	(Colony	2)	 0.21325	 0.22025	 0.20825	 0.22425	
Positive	Control	(Colony	1)	 0.17025	 0.15825	 0.15725	 0.15525	
Positive	Control	(Colony	2)	 0.17425	 0.18125	 0.22425	 0.17525	
Test	Device	1:	 	 (Colony	1)	 0.12725	 0.15725	 0.16625	 0.17225	
Test	Device	1:	 	 (Colony	2)	 0.14325	 0.13925	 0.15025	 0.14625	
Test	Device	2:	 	 (Colony	1)	 0.16725	 0.14025	 0.15125	 0.15425	
Test	Device	2:	 	 (Colony	2)	 0.18825	 0.19925	 0.19525	 0.20625	
Test	Device	3:	 	 (Colony	1)	 0.20425	 0.23625	 0.24625	 0.25525	
Test	Device	3:	 	 (Colony	2)	 0.19625	 0.21725	 0.20625	 0.20425	
Test	Device	4:	 	 (Colony	1)	 0.06925	 0.07925	 0.07625	 0.08625	
Test	Device	4:	 	 (Colony	2)	 0.07325	 0.09025	 0.07825	 0.08125	
Test	Device	5:	 	 (Colony	1)	 0.15725	 0.17125	 0.17225	 0.17125	
Test	Device	5:	 	 (Colony	2)	 0.09625	 0.09725	 0.09625	 0.09025	



Test	Device	6:	 	 (Colony	1)	 0.20525	 0.20725	 0.20825	 0.21125	
Test	Device	6:	 	 (Colony	2)	 0.20325	 0.21225	 0.19725	 0.19425	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	Replicate	4	

Negative	Control	(Colony	1)	 7882.25	 6940.25	 9023.25	 9850.25	
Negative	Control	(Colony	2)	 15962.25	 18088.25	 15613.25	 16226.25	
Positive	Control	(Colony	1)	 17094.25	 16962.25	 12562.25	 17283.25	
Positive	Control	(Colony	2)	 23004.25	 19466.25	 47575.25	 21102.25	
Test	Device	1:	 	 (Colony	1)	 4328.25	 7649.25	 6016.25	 10723.25	
Test	Device	1:	 	 (Colony	2)	 15952.25	 3654.25	 16061.25	 6036.25	
Test	Device	2:	 	 (Colony	1)	 18126.25	 13886.25	 17275.25	 18464.25	
Test	Device	2:	 	 (Colony	2)	 27455.25	 30251.25	 30751.25	 27628.25	
Test	Device	3:	 	 (Colony	1)	 5561.25	 7692.25	 6297.25	 11553.25	
Test	Device	3:	 	 (Colony	2)	 17906.25	 21793.25	 21714.25	 16231.25	
Test	Device	4:	 	 (Colony	1)	 10170.25	 13407.25	 12122.25	 17743.25	
Test	Device	4:	 	 (Colony	2)	 26244.25	 26927.25	 25505.25	 22488.25	
Test	Device	5:	 	 (Colony	1)	 18815.25	 19691.25	 18652.25	 22252.25	
Test	Device	5:	 	 (Colony	2)	 26408.25	 25330.25	 27346.25	 18264.25	
Test	Device	6:	 	 (Colony	1)	 8510.25	 13143.25	 9321.25	 17378.25	
Test	Device	6:	 	 (Colony	2)	 19839.25	 17294.25	 15219.25	 11424.25	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	Replicate	4	

Negative	Control	(Colony	1)	 1.56	 1.32	 1.69	 1.88	
Negative	Control	(Colony	2)	 2.70	 2.97	 2.71	 2.61	
Positive	Control	(Colony	1)	 3.63	 3.87	 2.88	 4.02	
Positive	Control	(Colony	2)	 4.77	 3.88	 7.66	 4.35	
Test	Device	1:	 	 (Colony	1)	 1.23	 1.76	 1.31	 2.25	
Test	Device	1:	 	 (Colony	2)	 4.02	 0.95	 3.86	 1.49	
Test	Device	2:	 	 (Colony	1)	 3.91	 3.58	 4.12	 4.32	
Test	Device	2:	 	 (Colony	2)	 5.27	 5.48	 5.69	 4.84	
Test	Device	3:	 	 (Colony	1)	 0.98	 1.18	 0.92	 1.63	
Test	Device	3:	 	 (Colony	2)	 3.29	 3.62	 3.80	 2.87	
Test	Device	4:	 	 (Colony	1)	 5.30	 6.11	 5.74	 7.43	
Test	Device	4:	 	 (Colony	2)	 12.94	 10.77	 11.77	 9.99	
Test	Device	5:	 	 (Colony	1)	 4.32	 4.15	 3.91	 4.69	
Test	Device	5:	 	 (Colony	2)	 9.91	 9.41	 10.26	 7.31	
Test	Device	6:	 	 (Colony	1)	 1.50	 2.29	 1.62	 2.97	



Test	Device	6:	 	 (Colony	2)	 3.52	 2.94	 2.79	 2.12	
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Sample	set:	 Arith.	Mean	 Arith.	Std.Dev.	 Geo.	Mean	 Geo.	Std.	Dev.	

Negative	Control	(Colony	1)	 1.61	 0.23	 1.60	 1.159	
Negative	Control	(Colony	2)	 2.75	 0.15	 2.74	 1.056	
Positive	Control	(Colony	1)	 3.60	 0.50	 3.57	 1.160	
Positive	Control	(Colony	2)	 5.16	 1.70	 4.98	 1.349	
Test	Device	1:	 	 (Colony	1)	 1.63	 0.47	 1.59	 1.323	
Test	Device	1:	 	 (Colony	2)	 2.58	 1.59	 2.16	 2.047	
Test	Device	2:	 	 (Colony	1)	 3.98	 0.32	 3.97	 1.085	
Test	Device	2:	 	 (Colony	2)	 5.32	 0.36	 5.31	 1.072	
Test	Device	3:	 	 (Colony	1)	 1.18	 0.32	 1.15	 1.292	
Test	Device	3:	 	 (Colony	2)	 3.40	 0.41	 3.38	 1.132	
Test	Device	4:	 	 (Colony	1)	 6.15	 0.92	 6.10	 1.155	
Test	Device	4:	 	 (Colony	2)	 11.37	 1.27	 11.32	 1.118	
Test	Device	5:	 	 (Colony	1)	 4.27	 0.33	 4.26	 1.079	
Test	Device	5:	 	 (Colony	2)	 9.22	 1.32	 9.14	 1.166	
Test	Device	6:	 	 (Colony	1)	 2.09	 0.68	 2.01	 1.375	
Test	Device	6:	 	 (Colony	2)	 2.84	 0.58	 2.80	 1.233	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	Replicate	4	

Negative	Control	(Colony	1)	 0.42125	 0.44825	 0.46125	 0.48425	
Negative	Control	(Colony	2)	 0.36725	 0.41625	 0.41525	 0.42125	
Positive	Control	(Colony	1)	 0.34725	 0.44825	 0.40125	 0.41825	
Positive	Control	(Colony	2)	 0.40225	 0.40525	 0.44425	 0.41325	
Test	Device	1:	 	 (Colony	1)	 0.41925	 0.44825	 0.43425	 0.51025	
Test	Device	1:	 	 (Colony	2)	 0.40525	 0.43325	 0.43525	 0.42325	
Test	Device	2:	 	 (Colony	1)	 0.45725	 0.46725	 0.46525	 0.46325	
Test	Device	2:	 	 (Colony	2)	 0.37625	 0.39225	 0.37525	 0.37925	
Test	Device	3:	 	 (Colony	1)	 0.49725	 0.52425	 0.51425	 0.54225	
Test	Device	3:	 	 (Colony	2)	 0.40625	 0.43425	 0.43025	 0.41425	
Test	Device	4:	 	 (Colony	1)	 0.18225	 0.20625	 0.20425	 0.21825	
Test	Device	4:	 	 (Colony	2)	 0.21425	 0.22225	 0.22425	 0.21725	
Test	Device	5:	 	 (Colony	1)	 0.40025	 0.44925	 0.47625	 0.49625	
Test	Device	5:	 	 (Colony	2)	 0.27625	 0.28725	 0.31225	 0.29625	



Test	Device	6:	 	 (Colony	1)	 0.44325	 0.49525	 0.51725	 0.55425	
Test	Device	6:	 	 (Colony	2)	 0.46525	 0.48725	 0.47625	 0.47925	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	Replicate	4	

Negative	Control	(Colony	1)	 8966.25	 11924.25	 9755.25	 12197.25	
Negative	Control	(Colony	2)	 8474.25	 17070.25	 17388.25	 19614.25	
Positive	Control	(Colony	1)	 26597.25	 39721.25	 26782.25	 28214.25	
Positive	Control	(Colony	2)	 26459.25	 24313.25	 34087.25	 27094.25	
Test	Device	1:	 	 (Colony	1)	 1693.25	 6710.25	 6642.25	 15134.25	
Test	Device	1:	 	 (Colony	2)	 6014.25	 11649.25	 14491.25	 9803.25	
Test	Device	2:	 	 (Colony	1)	 35544.25	 37199.25	 35607.25	 42997.25	
Test	Device	2:	 	 (Colony	2)	 32535.25	 39297.25	 39500.25	 34933.25	
Test	Device	3:	 	 (Colony	1)	 9145.25	 13624.25	 8837.25	 16209.25	
Test	Device	3:	 	 (Colony	2)	 20428.25	 22298.25	 19936.25	 16709.25	
Test	Device	4:	 	 (Colony	1)	 22011.25	 23972.25	 21896.25	 29318.25	
Test	Device	4:	 	 (Colony	2)	 31266.25	 36579.25	 30593.25	 28476.25	
Test	Device	5:	 	 (Colony	1)	 39409.25	 44146.25	 48943.25	 49908.25	
Test	Device	5:	 	 (Colony	2)	 31713.25	 28976.25	 35684.25	 33252.25	
Test	Device	6:	 	 (Colony	1)	 3647.25	 12801.25	 11325.25	 18822.25	
Test	Device	6:	 	 (Colony	2)	 13517.25	 12394.25	 10921.25	 9993.25	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	Replicate	4	

Negative	Control	(Colony	1)	 0.77	 0.96	 0.76	 0.91	
Negative	Control	(Colony	2)	 0.83	 1.48	 1.51	 1.68	
Positive	Control	(Colony	1)	 2.77	 3.20	 2.41	 2.44	
Positive	Control	(Colony	2)	 2.38	 2.17	 2.77	 2.37	
Test	Device	1:	 	 (Colony	1)	 0.15	 0.54	 0.55	 1.07	
Test	Device	1:	 	 (Colony	2)	 0.54	 0.97	 1.20	 0.84	
Test	Device	2:	 	 (Colony	1)	 2.81	 2.87	 2.76	 3.35	
Test	Device	2:	 	 (Colony	2)	 3.12	 3.62	 3.80	 3.33	
Test	Device	3:	 	 (Colony	1)	 0.66	 0.94	 0.62	 1.08	
Test	Device	3:	 	 (Colony	2)	 1.82	 1.85	 1.67	 1.46	
Test	Device	4:	 	 (Colony	1)	 4.36	 4.20	 3.87	 4.85	
Test	Device	4:	 	 (Colony	2)	 5.27	 5.94	 4.93	 4.73	
Test	Device	5:	 	 (Colony	1)	 3.56	 3.55	 3.71	 3.63	
Test	Device	5:	 	 (Colony	2)	 4.15	 3.64	 4.13	 4.05	
Test	Device	6:	 	 (Colony	1)	 0.30	 0.93	 0.79	 1.23	



Test	Device	6:	 	 (Colony	2)	 1.05	 0.92	 0.83	 0.75	
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Sample	set:	 Arith.	Mean	 Arith.	Std.Dev.	 Geo.	Mean	 Geo.	Std.	Dev.	

Negative	Control	(Colony	1)	 0.85	 0.10	 0.85	 1.124	
Negative	Control	(Colony	2)	 1.38	 0.37	 1.33	 1.373	
Positive	Control	(Colony	1)	 2.70	 0.37	 2.68	 1.142	
Positive	Control	(Colony	2)	 2.42	 0.25	 2.41	 1.108	
Test	Device	1:	 	 (Colony	1)	 0.58	 0.38	 0.46	 2.305	
Test	Device	1:	 	 (Colony	2)	 0.89	 0.28	 0.85	 1.408	
Test	Device	2:	 	 (Colony	1)	 2.95	 0.27	 2.94	 1.093	
Test	Device	2:	 	 (Colony	2)	 3.47	 0.30	 3.46	 1.091	
Test	Device	3:	 	 (Colony	1)	 0.83	 0.22	 0.80	 1.306	
Test	Device	3:	 	 (Colony	2)	 1.70	 0.18	 1.69	 1.116	
Test	Device	4:	 	 (Colony	1)	 4.32	 0.41	 4.31	 1.098	
Test	Device	4:	 	 (Colony	2)	 5.22	 0.53	 5.20	 1.105	
Test	Device	5:	 	 (Colony	1)	 3.61	 0.08	 3.61	 1.021	
Test	Device	5:	 	 (Colony	2)	 3.99	 0.24	 3.99	 1.063	
Test	Device	6:	 	 (Colony	1)	 0.81	 0.39	 0.72	 1.854	
Test	Device	6:	 	 (Colony	2)	 0.89	 0.13	 0.88	 1.153	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	Replicate	4	

Negative	Control	(Colony	1)	 0.56125	 0.58425	 0.55125	 0.57925	
Negative	Control	(Colony	2)	 0.56725	 0.57625	 0.56925	 0.55325	
Positive	Control	(Colony	1)	 0.49325	 0.55425	 0.54925	 0.56725	
Positive	Control	(Colony	2)	 0.53325	 0.54925	 0.53825	 0.49225	
Test	Device	1:	 	 (Colony	1)	 0.70025	 0.65325	 0.68125	 0.69725	
Test	Device	1:	 	 (Colony	2)	 0.68225	 0.68925	 0.70125	 0.69325	
Test	Device	2:	 	 (Colony	1)	 0.60025	 0.56325	 0.61625	 0.61725	
Test	Device	2:	 	 (Colony	2)	 0.60325	 0.61725	 0.59125	 0.59225	
Test	Device	3:	 	 (Colony	1)	 0.61425	 0.59525	 0.62225	 0.62125	
Test	Device	3:	 	 (Colony	2)	 0.61625	 0.60625	 0.57425	 0.58625	
Test	Device	4:	 	 (Colony	1)	 0.37725	 0.35225	 0.37725	 0.39125	
Test	Device	4:	 	 (Colony	2)	 0.44725	 0.43925	 0.42925	 0.42025	
Test	Device	5:	 	 (Colony	1)	 0.57325	 0.58725	 0.61825	 0.62825	
Test	Device	5:	 	 (Colony	2)	 0.53125	 0.52125	 0.49825	 0.47225	



Test	Device	6:	 	 (Colony	1)	 0.72025	 0.69525	 0.73025	 0.73825	
Test	Device	6:	 	 (Colony	2)	 0.70925	 0.71825	 0.68125	 0.68625	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	Replicate	4	

Negative	Control	(Colony	1)	 13653.25	 16848.25	 11310.25	 16001.25	
Negative	Control	(Colony	2)	 25223.25	 25942.25	 25367.25	 24650.25	
Positive	Control	(Colony	1)	 31438.25	 49708.25	 44146.25	 50382.25	
Positive	Control	(Colony	2)	 36702.25	 33343.25	 35943.25	 24538.25	
Test	Device	1:	 	 (Colony	1)	 8800.25	 6929.25	 4848.25	 13520.25	
Test	Device	1:	 	 (Colony	2)	 17766.25	 16000.25	 17521.25	 15297.25	
Test	Device	2:	 	 (Colony	1)	 60962.25	 55487.25	 66385.25	 67859.25	
Test	Device	2:	 	 (Colony	2)	 73474.25	 79527.25	 72894.25	 74107.25	
Test	Device	3:	 	 (Colony	1)	 17061.25	 21773.25	 22019.25	 28292.25	
Test	Device	3:	 	 (Colony	2)	 36387.25	 29893.25	 27941.25	 24369.25	
Test	Device	4:	 	 (Colony	1)	 38505.25	 36488.25	 37035.25	 45835.25	
Test	Device	4:	 	 (Colony	2)	 62633.25	 60652.25	 54349.25	 57731.25	
Test	Device	5:	 	 (Colony	1)	 63262.25	 72155.25	 77655.25	 84994.25	
Test	Device	5:	 	 (Colony	2)	 60129.25	 59986.25	 48585.25	 46415.25	
Test	Device	6:	 	 (Colony	1)	 9928.25	 11634.25	 11436.25	 18421.25	
Test	Device	6:	 	 (Colony	2)	 17828.25	 12470.25	 13461.25	 12031.25	
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Sample	set:	 Replicate	1	 Replicate	2	 Replicate	3	Replicate	4	

Negative	Control	(Colony	1)	 0.88	 1.04	 0.74	 1.00	
Negative	Control	(Colony	2)	 1.61	 1.63	 1.61	 1.61	
Positive	Control	(Colony	1)	 2.30	 3.24	 2.90	 3.21	
Positive	Control	(Colony	2)	 2.49	 2.19	 2.41	 1.80	
Test	Device	1:	 	 (Colony	1)	 0.45	 0.38	 0.26	 0.70	
Test	Device	1:	 	 (Colony	2)	 0.94	 0.84	 0.90	 0.80	
Test	Device	2:	 	 (Colony	1)	 3.67	 3.56	 3.89	 3.97	
Test	Device	2:	 	 (Colony	2)	 4.40	 4.65	 4.45	 4.52	
Test	Device	3:	 	 (Colony	1)	 1.00	 1.32	 1.28	 1.64	
Test	Device	3:	 	 (Colony	2)	 2.13	 1.78	 1.76	 1.50	
Test	Device	4:	 	 (Colony	1)	 3.69	 3.74	 3.55	 4.23	
Test	Device	4:	 	 (Colony	2)	 5.06	 4.99	 4.57	 4.96	
Test	Device	5:	 	 (Colony	1)	 3.99	 4.44	 4.54	 4.89	
Test	Device	5:	 	 (Colony	2)	 4.09	 4.16	 3.52	 3.55	
Test	Device	6:	 	 (Colony	1)	 0.50	 0.60	 0.57	 0.90	



Test	Device	6:	 	 (Colony	2)	 0.91	 0.63	 0.71	 0.63	
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Sample	set:	 Arith.	Mean	 Arith.	Std.Dev.	 Geo.	Mean	 Geo.	Std.	Dev.	

Negative	Control	(Colony	1)	 0.91	 0.13	 0.91	 1.165	
Negative	Control	(Colony	2)	 1.61	 0.01	 1.61	 1.006	
Positive	Control	(Colony	1)	 2.91	 0.43	 2.89	 1.172	
Positive	Control	(Colony	2)	 2.22	 0.31	 2.21	 1.157	
Test	Device	1:	 	 (Colony	1)	 0.45	 0.19	 0.42	 1.515	
Test	Device	1:	 	 (Colony	2)	 0.87	 0.06	 0.87	 1.077	
Test	Device	2:	 	 (Colony	1)	 3.77	 0.19	 3.77	 1.052	
Test	Device	2:	 	 (Colony	2)	 4.51	 0.11	 4.50	 1.025	
Test	Device	3:	 	 (Colony	1)	 1.31	 0.26	 1.29	 1.224	
Test	Device	3:	 	 (Colony	2)	 1.79	 0.26	 1.78	 1.154	
Test	Device	4:	 	 (Colony	1)	 3.80	 0.30	 3.79	 1.079	
Test	Device	4:	 	 (Colony	2)	 4.89	 0.22	 4.89	 1.047	
Test	Device	5:	 	 (Colony	1)	 4.46	 0.37	 4.45	 1.088	
Test	Device	5:	 	 (Colony	2)	 3.83	 0.34	 3.82	 1.093	
Test	Device	6:	 	 (Colony	1)	 0.64	 0.18	 0.63	 1.292	
Test	Device	6:	 	 (Colony	2)	 0.72	 0.13	 0.71	 1.188	
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